e C EERA L 2 Bk

deBld LT - EIEA 2R RATR > B H R e (7(4.2)5Y)
2.8 kA RIEH

1
Ealtz t<t
o (t) = (C.1)
¢1+(01t t>tl
',‘E"‘:1 alzc;:)l ’@:%altl ’Té’tl—OFE (Cl) 7L$¢o:wlt°¢o,|‘1i‘i’lﬂ$ﬁ
1

F B H e AV T Ao =

Vi) = ZONGY - N —%L?’LX (C.2)

BPoz(t) 2 RAFZR b ol 2250 N(X) & RAFR X B8 Re i H 5
Ble 8 5 LPFen®A)d S PSR RF e e o B4 - 28— pd
BenZEsoBE - TR AR B g AR 2 s mh s ds 45 (CL1) 5 e e

AV I AeBl4 L - o2t oA A#HE R y(t) £ o7

1_ .2
Sl t<t

y(t) = (C.3)
yp vt t>t

B A Rags - FHo y=Jat’  vi=ag 0§ =0 (CI5tar
E oy =vit o z() = X() - y(t) S EE hEpas 0 W (C2N P 2 z(t) o 17 %k
gpBaBE Yk FEm2 A hdERay v 7l B R I 7 4
T de T

K=EIf" N"dx=% (C.4)

116



2 El 2 RA R b A LiHEER > N =d2N/dx? -

_ Lni240 33
m=pA[ "N dx—mpAL

B p AL U EREZOGREZ U5 M o

L
PP xNdX 1112p0a 7

0 m 40m

7

N a) . 2
#(COF 2 a=""Trrv=ay? "BV =—olL -

t, 6

a L

B4 L+ - 2 50 s @ d > 258 % 4240 if 2% A7 A0

2

'Z'+a)f :'ao
k 21
a)f: _— ) T:—
m C()f

2(0) = x(0)- ¥(0) = X
2(0) = x(0) = (0).=0
£ op 5§ ARG TR -

(C.T)N 2 38 H 3 25\ thj2 4527 £ 7 & ¢

a a
7,(t) = (%o +—5 ) cos(@t) - —5

@t @
Vi Vi
=(Xg + —)cos(w¢t) - —
bt bt

2(t) = (ko0 +—2)sin ()
2%

V .
= '(Xoa)f +—1)S|n (a)ft)
Loy

Z,(t) =c,cos(wt) +cysin(wi i)

=csin(o+t + ¢p)

117

(C.5)

(C.6)

(C.7)
(C.8)

(C.9)
(C.10)

(C.11)

(C.12)

(C.13)



f:t'tl y t>t1

¢, =17y(ty) , Co=2(l)/w; (C.14)
c=(2+cd) 2, tan(p) =2
2

F4 2T 0 (CL)A 7 oz (0) % — BIRIGSapp ™ 277 &

Xo + 1 (C.15)

2

5amp =
10

() 7(0) =2

FU>UPF > o k32 ® i F R Z,(0) B30 (Cl4) P adrtg Cc0 F dRTE
d Ay z(t) 2 #E R M) AT A E R R R
(,=nT) > d (CL2)wH it B 2)(t) =0 > =8 7y(t;) 2 =HF ¢ » | 5

Z,(t) = (Xo + )
@j (C.16)

c=(c¢f +c§)% =l
Fohod B L LA R (=2 )T/2)  d (CL)N ot B

2(t)=0 > =8 zy(t) % F=tFe s 5 5

a a V.
7(ty) = (%o +—9)(D) - —F =% -2—
W W5 10
(C.17)
2 2 V
c=(c; +Cz)% =X -2—5
tos
d B3 A2 R EY o PR GHIRR G A 2 Bk Suandk

A B ARG DS ) o F A RN T X FH s H R o] BBk
SR M SO S L A w@:zz(t—) v P\—:'é\:tﬁi’F F%F'&_L % B~ E A IR PE'EﬁFE‘;‘
B e BE 2002 o LR IR 2N | Bt B - B S e 2()

P A R ERERF SRS E S E S AL o

118



